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Physics ASs iqnment -5 
Tapic-electric Potentia 

9 meta uive is b ent in to a cincle of aduu 

Lo cm 9t is qiven a ch cunqe of 2ob JUC hi ch 

Spuedds on it uniformly Cclculate +he eectric 

hich 

Potential at its centre ? 

2A BCD is a squaru of sid o.2 m. changes Of 2x10?, 

4X lo9, 8 xio-9 Coulo nb n p laced atthe Cohei 

ABahd c espectiveuy Colulate the cwork requune 
to trons{en a change of 2x103 Coulonb fom Cohe 
D tothe Cenre of Squan 

3 9 a point chnge +is taken fikst fom A to 
C oun d then from C to B of a w ddaon wih 

auho then point chonge t as centre , then olong which Padth move dork uill be done ? 

C 

A CQ-4 9h fig. +he two qophs Sh6 
u aion of electhostadict 

+he 

PoHhtio CVwih yr Hbeing dustance of +he field point fonm the point ch ange) fo two chang es 1 ahd L L ahd L ci wn at uu +he siqns of +he two ch anqes ? 
Ci wnich of +he two changes has Longen maqnitu dt8 hy? (/) CS n the electic fild -

E 3t - 2y0 + 5zK find the Potential diferunce bedwe en th e poihtS A Ci,3,S) ouh d B (3,2,4) 



6 The electric potential at aboint s given b 
V = 3y + Syz+ *z 
maghiuQ off elect ic {reRd at the poi nt Sind +he 

C3,2 1) ? 

9 W ht is +he potential quadieht ata di'stahce f 
io-12 o m fom he Centre of the pl atinum ru us? Ohat is the potentia qaclent ot the Sunface osf +he ucleus ? (z= +8, Radus = Sx 1o-Dm) o 

Q8 A cube of Sid b as a chage at eacho} of 
i+s erght uenti ces Detenmine the pottnti cu ohd electic 
Sield cul +o +his chanqe an a the entre 
of +he be ? 

-9 Calcudatt the Pothtia on t+he axis of a unq on the axis ofq unq du to q chan qe uniformy dis+ributed alo ng d'stri buted alo nq +he inq of Radius R? 
+he 

+10 A point change + is Placed at the oriqin placed at the ori in as shown in the figwu work ddoh e in tokinq oho then pOint chang e- tom to aho the point B (qo) olu 

m the polnt A (o,a) B (ao) alonq the Stradght Pa cth 
AB IS 

Two chamqes Sxto-3 c ahd A(o)a) 
-3Xlo-8c 

A whaB pol nt on the lineToini ng + +he wo chanqes is +he electriao, o)

-3 xloc oru locat ed 16 cm pant 

+| 
Pothti a zeruo? ToyCe t+he Podtntia a 9nfinity to be Zero 
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